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FORMULE NEL FOGLIO DI CALCOLO “Trafi_TX” 

CELLA FORMULA NOTE 

B15 ��� = ���  n numero ferriti 

B16 �� �	 = 
���

��    

B17 
�� = 
�� �1 + �
���

�� ���   

B18 
��� = 
���[1 + � 
��
�����]   

B19 ��� = �(1 − 10|"|#$%& )/(1 + 10|"|#$%& )�   

B20 )� = *(+,-.1 − 10%|"|#$%& )/(160�1(10|"|#$%& )2
��� + 
���� 3454 1067)  [spire] 

f [kHz], Ae [cm2] e le 

[cm] 

B22 8 = 109�::/;√201106>)����?  [mT] f [kHz] e Ae [cm2]  

B23 @	 = 80�1 3454 )��
�� 1067  [Ω] f [kHz] e Lm [nH] 

B24 �� = 80�1 3454 )��
���1067 [Ω] 
f [kHz], Ae [cm2] e le 

[cm] 

B25 �B = �CDE �1/ � FGHIJ� + FKL − M FNO�� + �P  [Ω] Tutto in [Ω] 

B26 @B = QRR �1/ � FGHIJ� + FKL − M FNO�� + NOFST  [Ω] Tutto in [Ω] 

B27 +B = |�B + M@B|  [Ω] Tutto in [Ω] 

B28 9�:: = 2V+B  [V] P [W] e Zt [Ω] 

B29 � = W4XXGJ �P + �9�:: − Y�P + M NOFSTY W4XXGJ �� /��  [W]  

B30 )Z = )[2+\]B/+,-  [spire]  

B32 ) = )�/)�   

B33 +\]B� = +\]B)�  [Ω]  

B34 ^ = (V − �)/V   

B36 |Γ|`a = 20Eb� YGc6GdeGcfGdeY dove  +[ = 1/ g�B + M F
h ijJ6�k:l||FSmnop C|| [pF], f [kHz]  

il resto in [Ω] 

 


